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Third Semester B.E./B.Tech. Degree Exammatlon Dec.2023/Jan.2024
Programming in C++

Time: 1 hr.] 3 [Max. Marks: 50

INSTRUCTIQNS*'TO THE CANDIDATES

1. Answer all the fifty questlons each question carries one: mark

2. Use only Black ball pomt pen for writing / darkening the circles.

3. For each question, after selectmg your answer, darken the appropriate circle
corresponding to. the Same question number on the OMR sheet.

4. Darkening two mr_cles for the same qucstlon makes the answer invalid.

5. Damaging/ovér@vriting, using whiteners on the OMR sheets are strictly

prohibited..

1. The process of combining data and functional attributes of an entity is known as

a) Class b) Object c) Inheritance d)__:;];pcapsu%n
. is an instance of a class.’ a <
a) Object b) Method c) Flll'lCthl'l +d) All of these

3. When the objects of a class behave like a, data type the class-i lS ‘known as

a) Abstract data type b) Method " ¢) Template N d) Function
4. hides unnecessary things ;and'raifeals only those _that the user needs to manipulate.
a) Inheritance b) Abstract ¢) Polymorphism d) Class

5. The idea of extending an alr_'eadj? defined class is’kknown as
a) Polymorphism b) 'Ené'a'psulation ¢) Inheritance d) Abstraction

6.~ A class with no objects\ is called as__
a) Abstraction Cias_s_ ' _ b) Inherited Class
¢) Arrived Class d) Friend Class

7 is the ablllty of a single ob}ect to appear in many forms.

a) Inheritance b) Encapsulatlon ¢) Abstraction d) Polymorphism
8. ___ Polymorphism is related to functions that behave differently with set of arguments.

a) Dynamic b) ‘Parametric ¢) Adhoc d) Both (a) & (b)
9. Function overlo_a'diﬁg is an example for

a) Dynamic Polymorphism b) Parametric Polymorphism

¢) Adhoc Polymorphism . d) Both(a) & (b)
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Identify example for runtime Polymorphism.
a) Adhoc b) Dynamic c) Paramet' C d) Both (a) & (c)
refer to the name of variables, functions arr ys , classes etc created by the
programmer.
a) Keywords b) Constants c) - Idéiltlﬁers d) Strmgs
refer the fixed values that do not chapge durlng execution of a program
a) Variable b) Identifier . c) String d) Constant
operator can be used to unca_.y%?'&- hidden variable. _ |
a) Assignment b) Relatlo"' p c) Arlthmetrc “ d) Scope resolution
expressions combine’ t‘fﬁ :'or more relational cxpressmn and produces too type
results. #,
a) Logical b) _‘C’Onstant il d) Integral
The operator + = iscalled

a) Assignment . D) Scope resolution
c) Compound A531gnment - d) Addition

In C++, <2s, called
a) Insef‘hon operator _‘
c) Scope resolution operator G

b) Extraction operator
d) Pointer I" member declarator

Identify the invalid variable.

a) al b) ,a(;_;-&:. d)x

.....

Identify the relatlonal expression i :

a) x<= y ' b) x+y, ﬁ*f‘QO d) m*n-5

c) 20-

expresswns produce addtess values.
a) 'Integer b) Pointer - ¢) Integral d) Constant

is a special member ﬁmction whose task is to initialize the object of its class.
\ b) Destructor . c) Virtual function  d) Template

A constructor thg’t accepts no paraﬁie’cé‘rs is called

a) Default=s ./ b) Param“et‘énzed ¢) Virtual d) Single
is used to destroy the*‘o__l_:;jects that have been invalid.
a) Constructor b) Destructor ¢) Virtual function  d) Class
The name of member function is preceded by a tilde
a) Constructor . b) Destructor c) Abstract function d) Virtual function
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A derived class with only one base class is called B §
a) Single Inheritance b) Multzpl&lnherltance
c) Multilevel Inheritance d) Hybrld Inheritance

A class can inherit the attributes of two 01' more classes this is known as
inheritance.

a) Single b) Multiple | c) Multllevel _Q)"‘*%-'Hybrid

The mechanism of deriving new class from an old one is called )

a) Inheritance b) Polymorphlsrn c) Abstraction . d) Encapsulation
In inheritance combmatmn GF many inheritances are observed

a) Single b) MuItthe c) Hybrld _ d) Multilevel

Identify the correct statement regarding to destructor

a) Destructor never takes' any argument b) Destructor does not return any value
¢) Destructor is a gle;pber function d) All of these
In Inhentance there is a single base Class and multiple derived classes.
a) Smgle . =" b) Multiple . ¢) Hierarchical d) Multilevel
The elass contains the details not needed for templatization.
a) 1os-base b) basic é{? ' c) basrc stream leaf d) basic_upstream

A file can be defined in .poggible types. iy —
a) 1 b) 25 ¢).3.. d) 4

If stream opens a file i in”_  mode - .

a) read b) write . ¢) read_write .., d) append

fstream opens_ua_‘_;:_;f';fiez in mode. .4 o

a) read o b) write % % c) read wnte d) append
ﬁmcnon is useful for wnfmg to files character, hy character

a) put() b) get ()» c) get c() d) string

function is used"it%_ée eck the end of _th&-ﬁle.

@ wite() b read()  Ced) get() d) off

: is useful for readmg entire Imes ,

a) getlme ( ) b) get () c) put() d) set()
prov1des the mechanism to ‘access the stream using lower level functions.

a) basic_stream leaf b) basne ostream c) basic_iostream d) basic_ios

function is used* wrthout any arguments to close a file.
a) put () ~ bget() - ¢) close () d) write ()

ﬁmction*ié‘%i%d for reading files character by character.
a) put () b) get () ¢) putchar () d) gets()
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The errors that are caused by events beyond the control-of the'
a) Synchronous exception b) Asyuehr@:fous exception

¢) Both (a) & (b) d) None Qﬁhese
Exceptions are of kinds.
a) | b) 2

W belongsto_____ exceptions.
c¢) Both (a) &((b) (b) d)’ None of these

Errors such as out of range index and ove
a) Synchronous b) Asynchronous

is used to prepare a block_oﬁtatements which may geMte exceptions.

a) Try ¢) Throw “#% "~ d) Thrown

C++ provides mechamsm%fog,, lﬁndlmg exceptlons '
a) Synchronous b) %nchronous c) quhfaT& (b) d) None of these

%
Taking corrective ag,tlon means

a) Handle the e ﬁ ton
¢) Throw the exception

“&"-'

b) it the exception
1) Catch the exception

C++ excepfmn,}landlmg mechanism is basmally built upon ____ keywords.

a) 1 f”‘z : b) 2 ‘i c) 3 d 4
ﬁ «@ S

When ;é% exceptlon is thrown 1%%11 be caught by :

block.

a) catch

™

statement assocmted with try

dacpt
b) Catch § x d) None of these

9 Both(@)& (o)
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